num is 15

htis 10
140
130
120
110
105
99
96
92
80
70
50
45
40
33
>>>>>>>>> Start level: 0
HiH#H#HH Start partitioning at root 50
[501(i(7)>m(3)): (i-m-1)=3, plvI=0
[80](i(3)>m(1)): (i-m-1)=1, plvl=1
[92](i(1)>m(0)): (i-m-1)=0, plvl=2
(&1 (i(0)==m(0)): plvI=3
rotateleft at 92
rotatelLeft at 80
rotatelLeft at 50
H###H## After partitioning at root 50
150
140
130
120
110
105
m 99
92
80
70
50
45
40

33

150



++++++++ Start rebalance at root 50
 >>>>>>>>> Start level: 1
Hi###H## Start partitioning at root 50
[50](i(3)==m(3)): plvl=0
H#H#HE After partitioning at root 50

92
80
70
50
45
40
33

++++++++ Start rebalance at root 40
= >>>>>>>>> Start level: 2
HitH##HH Start partitioning at root 40
[40](i(1)==m(1)): plvI=0
HiH#HE After partitioning at root 40
45
40
33
++++++++ Start rebalance at root 33
>>>>>>>>> Start level: 3
n<3
>>>>>>>>> End level: 3
++++++++ End rebalance at root 33
++++++++ Start rebalance at root 45
>>>>>>>>> Start level: 3
n<3
>>>>>>>>> End level: 3
++++++++ End rebalance at root 45
>>>>>>>>> End level: 2
++++++++ End rebalance at root 40
++++++++ Start rebalance at root 80
>>>>>>>>> Start level: 2
#it#H### Start partitioning at root 80
[80](i(1)==m(1)): plvl=0
HiHH#HE After partitioning at root 80
92
80
70
++++++++ Start rebalance at root 70
>>>>>>>>> Start level: 3
n<3
>>>>>>>>> End level: 3
++++++++ End rebalance at root 70
++++++++ Start rebalance at root 92
>>>>>>>>> Start level: 3
n<3
>>>>>>>>> End level: 3
++++++++ End rebalance at root 92
= >>>>>>>>> End level: 2
++++++++ End rebalance at root 80
- >>>>>>>>> End level: 1

++++++++ End rebalance at root 50

A

105

110

G2

45

33

124

130

140

1540



++++++++ Start rebalance at root 99
>>>>>>>>> Start level: 1
HiH#HE Start partitioning at root 99
[99](i(3)>m(0)): (i-m-1)=2, plvI=0

[105](i(2)>m(0)): (i-m-1)=1, plvl=1

[110](i(1)>m(0)): (i-m-1)=0, plvl=2
[EEITli(0)==m(0)): plvi=3
rotateleft at 110
rotatelLeft at 105
rotatelLeft at 99
HiHH#H#E After partitioning at root 99
150
140
130

110
105
99
++++++++ Start rebalance at root 99
>>>>>>>>> Start level: 2
Hit###HE Start partitioning at root 99
[99](i(1)>m(0)): (i-m-1)=0, plvI=0
[E6Ei(0)==m(0)): pivi=1
rotateleft at 99
HiHH#H After partitioning at root 99
110
105
99
++++++++ Start rebalance at root 99
>>>>>>>>> Start level: 3
n<3
>>>>>>>>> End level: 3
++++++++ End rebalance at root 99
++++++++ Start rebalance at root 110
>>>>>>>>> Start level: 3
n<3
>>>>>>>>> End level: 3
++++++++ End rebalance at root 110
>>>>>>>>> End level: 2
++++++++ End rebalance at root 99
++++++++ Start rebalance at root 130
>>>>>>>>> Start level: 2
HHHHHH Start partitioning at root 130
[130]1(i(1)>m(0)): (i-m-1)=0, plvI=0
821 (i(0)==m(0)): plvi=1
rotateleft at 130
HiHH#H After partitioning at root 130
150
140
130
++++++++ Start rebalance at root 130
>>>>>>>>> Start level: 3
n<3
>>>>>>>>> End level: 3
++++++++ End rebalance at root 130
++++++++ Start rebalance at root 150
>>>>>>>>> Start level: 3
n<3
>>>>>>>>> End level: 3
++++++++ End rebalance at root 150
>>>>>>>>> End level: 2
++++++++ End rebalance at root 130
>>>>>>>>> End level: 1
++++++++ End rebalance at root 99
>>>>>>>>> End level: 0

&

1540

1440
130
120
110
145
55
G2
o]
T
50
a5
b b
33
renmenaas After rebalance -----em-memee s
150
140
130
120
110
105
95
56
a2
8O
7o
50
45
40
33



------------ After rebalance -------------------

150
140
130
120
110
105
99
96
92
80
70
50
45
40

33




